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Inequalities and Keywords

| 2 <
| greater than less than at least latmost
more than smaller than minimum i | maximum
greater than or equal to less than or equal to
or more equal to or less than
no less than no more than
does not surpass
never more than

can’t be more than

any more than

cannot exceed
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To raise funds for learing disabilities, members of an association organize a concertin a theater. They

wart to allocate seats for donors and the rest of the seats are reserv

ed for general admission. The

theater contains a maximum of 300 seats. In order to satisfy the fundraising campaign requirements,
there must be three times as many seats for general admission than seats reserved for donors.
Qrganizers wish to have at least 30 seats reserved for donors and a maximum o

admission.

X )
-

} ldentfy the variables in this situation.

f 300 seats for general

ya

g

-

- o
ero values!

What are the two inequalities that translate the fact
that, in a situation, the variables usually take positive or

"
]
=t

rans

inequality.

late each of the constraints of this situation into an

wat

.,

on the right and color the region that satisfies all the constraints.
The region obtained is a closed polygon called polygon of constraints.

% e Determine the vertices of the polygon of constraints.

b3 \;j CQ—r-fa(i.’w‘ D N N N e B

o—
Represent each of the constraints in the Cartesian plane
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At the end of the season, the manager of a nursery garden Number AY

k A(1000, 2000)
wants to clear his inventory which contains 1500 flower boxes of shrubs
and 2000 shrubs.

o
B(1500, 1500)
p
Let x and y represent respectively the number of flower boxes

and the number of shrubs sold. M(750, 1000)
®

The constraints associated with the sale of the flower boxes

and shrubs are represented by the polygon of constraints on

the right. The revenue R (in $) generated by selling x flower -

boxes and y shrubs is given by R = 3x + 8y.

i C(1500,0)
' »
a) The interior point M(750, 1000) of the polygon satisfies 0 250 ﬂourl:plt:’g;:;
the constraints and corresponds to the sale of 750 flower

boxes and 1000 shrubs. What is the revenue R generated by this sale?

b) Evaluate, for each vertex of the polygon of constraints, the revenue associated with the sale.

Vertices Revenue: R = 3x + 8y ¢ . Whot o Hee ma) (min
ﬂ
0 (0, 0) reveaae
A (1000, 2000) . .
. ) hot % R miaimym
B (1500, 1500) b- w R ‘
C (1500, 0)
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